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Exercício 4 : 
 

  

l
PbYA =

PblYM
l
PaY

lYPaM
YPY

X

AB

B

BA

BA

A

=−⇒=

=

−⇒=

=+−
=

∑

∑

00)4

0)3
0)2

0)1

)(

)(  

ISeção)5  
)0( ax ≤≤  

    
x

l
PbMMx

l
Pbc

l
PbVb

Na

XX

X

X

=⇒=−

=

=

)()(

)(

)(

0)

)

0)

 

IISeção)6  
  ( ) lxa ≤≤

 

 
 
 
 
 



( ) ( )

( )

( )( ) ( )

( ) ( )

01

0)

0)

0)

2

)(

)(

)(

)(

)(

=⇒=

=
−

=
+−

=⇒=

−
=

+−
=+−=

=−−−

−=
−

=
−

=−=

=−−

=

Mx
l
Pab

l
alPa

l
PalPaMax

l
PaxPal

l
PaxlbPPaPx

l
PbxM

MaxP
l
Pbxc

l
Pa

l
lbP

l
PlPbP

l
PbV

VP
l
Pbb

Na

X

X

X

X

X

 

 
Diagramas : 
 
 

 
 
 
Exercício 6 : 
 

 ∑

∑

=⇒−==

=

−












==

=

62
0)3

3

3
2

2
0)2

0)1

)(

)(

PlYPllYM

PlY

lYlPlM

X

AAB

B

BA

A

 

 



 

 ( )

( )

3
3

32626

36
3

6
1

66
0

3
2

6
)

26
0

26
)

0)

)4

2
222

2

32

22

lxxl
l

PxPl
l

PxPlV

PlVlPl
l
PlPlVx

l
PxPlxMM

l

xPxPlxc

l
PxPlVV

l
PxPlb

Na
l
PxP

l
P

x
P

X
X

=====−=

−=⇒
−

=−=⇒=

−=⇒=−−

−=⇒=−−

=

=⇒=

 

Diagramas : 
 

 
 
 
 
Exercício 7 
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Exercícios 10 : 
 
 

  

2

2
)2

2

2
0)1

)(

)(

Pl
l
PbY

lPlPblYM

Pl
l
PaY

PllYPaM

A

AB

B

BA

+=

−−=

+=

+−==

∑

∑

 

( )ax ≤≤0  

  
22

)

2
0

2
)

0)

2

)(

PxxPl
l

Pbc

PxPb
l
PbVVPxPl

l
Pbb

Na X

=





 +

−+=⇒=−−+

=

 

( )
( )

l
PaPaPb

l
PaPalPblPPaPb

l
PbPV

PaPbaPa
l
PbPaaPl

l
PbM

PaPb
l
PbPaPl

l
PbV

A

A

A

−−=
−−

=−−+=−

−++=−+=

−+=−+=

222
2

22

22222

222

)(

222

)(

)(

 

 
 
 
 
 
 
 



 
Diagramas : 
 

 
 


